Laboratory work #6
Researching the properties of bipolar junction transistors

Task 1.

Researching the ratio of collector current to base current
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Construct the circuit according to Fig.6.1 and switch it on.
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Fig.6.1 
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c) Set the value of 
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Task 2.

Researching the collector reverse current.
Use the circuit Fig.6.1 and set the value of 
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The reverse collector current
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Task 3.

Researching the BJT output characteristics for the common emitter circuit.
Construct the circuit according to Fig.6.2 and switch it on.
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                                                                                        Table 6.2
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 b) Using the obtained characteristics define the value of 
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Fig.6.2 

Task 4.

Obtaining BJT input characteristic for the common emitter circuit.

Construct the circuit according to Fig.6.3 and switch it on.
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Fig.6.3 

а) Set 
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b) Using Table 6.3 construct the plot describing the dependence of 
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c) Using the input characteristic define
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The calculated value of 
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Task 5.

Obtaining BJT input characteristic for the common base circuit.

Construct the circuit according to Fig.6.4 and switch it on.

а) Using Table 6.4 plot 
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b) Using the obtained characteristic define 
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c) Define 
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Fig.6.4
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Your report must contain the circuits and characteristics of BJT.

Question list

Bipolar Junction Transistors 

Transistor as Current Amplifier 

Common-Base (CB) 

Common-Emitter (CE) 

BJT quirks

Temperature drift

Thermal mismatch (problem with paralleling transistors)

High frequency effects
Miller’s theorem
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